
 

 مدارس الأوائل النموذجية الخاصة للبنات
  )B (لمادة اللغة الانكليزية للصف الثالث الثانوي العلمي  نموذج 8201-7201الأولى للفصل الأول للعام  المذاكرة سلم تصحيح أسئلة 

    1.because of itssize and location(6 marks) 
    2.farmers, ranchers, loggers and oil companies            (6 marks) 
    3. When large areas of the Amazon rainforest are cut down / destroyed.                                 (6 marks) 

==========================================================================  
    4.global( 5 marks )5. devastating(5 marks) 
========================================================================== 
   6.  Soya beans are good for both human and animal consumption.(6 marks) 
   7. Oil companies use cleared land to find more oil.(6 marks) 

========================================================================== 
   8.b. more(6 marks)                              9. b. recycled(6 marks) 

========================================================================== 
  10. melt(6 marks) 11. incineration(6 marks) 

========================================================================== 
   12. they release some pollution into the air(6marks ) 
   13. wood and used paper (6 marks) 

========================================================================== 
   14.When / As( 6 marks )15. the / his / their( 6 marks )16. hadn't( 6 marks )        
========================================================================== 
   17. end(6marks)      18. father's( 6 marks ) 19.let(6 marks)    20. swings(6 marks)    

========================================================================== 
   21. Where have you always wanted to live? / What have you always wanted to do? (8 marks) 
   22. How old were you when you came to live in the city? (8 marks) 

  23. Did you have any friends or relatives in the city?(8 marks) 
  24. Any logical answer is accepted.(8 marks) 

========================================================================== 
  25.  I wish would collect rubbish often enough. / I wish our city would collect rubbish more often. 

(8 marks) 
  26. Climate change is causing global warming so that ice in the polar areas is melting. (8 marks) 
  27.  The rules clearly say that we must not leave rubbish outside our homes. Look, it’s in black and white.(8 

marks) 
  28.  Scientists have just come up with a new way of reprocessing plastic.(8 marks) 

========================================================================== 
  29. presentsimple                                                                  (7 marks)   
  30.past simple ( result clause)(7 marks) 

========================================================================== 
   31.violent( 6 marks )32.in order to (6 marks )33. property( 6 marks )  
========================================================================== 
    34.has been working / has worked(6 marks ) 35. had never flown ( 6 marks )  36. rose( 6   
marks)============================================================================ 

 ( marks 10 ).يتحكم نظامي المراقبة البيئية ودعم الحياة بعناصر مثل الضغط الجوي ومستويات الأكسجين وتدوير الماء.37

  38. Everything was going (on) well until they faced / came up with an unexpected problem. / Everything has 
been going (on) well until they have faced / have come up with an unexpected problem. 

( 8 marks) 


